AOTIZTIKOI APIOMOAEIKTEZ — ACCOUNTING RATIOS

1. Atikteg Amédoong (n Kepdogopiag) — Profitability Ratios

(i) Acgiktng MeikToU Képdoug rpog Kéotog NwARoewyv (Mark-up)

AgikTne MeikTou Képdoug Trpoc KéoTog MuwAfoewy= —aekrKéndos 10

Kb6oT10¢ TwAoewv

Gross Profit

Mark up = X 100 =%

Cost of sales

(if) Agiktng MeikToU Mepi1Bwpiou i MeikTou Képdoug (Gross Profit Margin)

Mektd KépSog

Agiktng MeikTou Képdoug = X 100 = %

HwAoegwg

Gross Profit
Revenue

Gross Profit margin = x 100

(iii) Agiktng KaBapou MepiBwpiou | KaBapou Képdoug (Net Profit Margin)

KaBapo Asttovpyikd KépSog

X 100 =%

Aciktng KaBapou Képdoug =

NwMoeg

Operating Profit
Revenue

Net Profit margin = X 100 = %

(iv) Agiktng ATr6d00ng ATraoXoAoUpevwy - ETrevdupévwv KepaAaiwv
(Return on Capital Employed-ROCE)

. . ) Kabapé Képd 5 7610V & P
(a) ATT6500n ATracxoAoUpevwy Kepahaiwy = ——bo —"PONTPTY 770 TOP0UE = POPOYE" x 100 = %
ZUvoldo Attao yodlovuévwv K epalaiwv

Net profit before interest& taxesx
/ x 100

ROCE =

Total Capital Employed

*or operating profit

) ) ) KaBapt Képs { b TOKROUCE: G
(b) ATrodoaon ATraoyohoUpevwy Kepaaiwy = ———p PN RETZ 70 TOFOs= $OP9%C x 100 = %
Amaoyoiovusva Kepdalaia

Net profit after interest & taxes
x 100

ROCE** =

owners'Capital Employed

** or Return on Equity or Return on shareholders’ funds (ROSF)
2. Agikteg PeuoTtéTnTag — Liquidity Ratios

(i) Agiktng KukAog@opiakng (AQ Mevikng) Peuotdétnrag (Current Ratio)
Kvklo@opiakd Evepyntikd

AgikTng KukAogoplakrg PeuoTtotntag =
ns popiakns ras BpayvmpdOeoues YTOYpEWOELG

Current Assets

Current ratio = ——
Current Liabilities



(ii) Aciktng MpaypaTtikng (A Eid1kAg) PeuotdétnTag (Acid Test or Quick ratio)

Kvklogopiakd Evepyntikd—Amobéuata

Aciktng MpayuaTikig Peuotdétntag =

BpaxvmpoOeaues YToYpewoeLs

Current Assets—Inventory

Acid Test (or Quick ratio) =

Current Liabilities

3. Acikteg ApaoTnpidtnTag — Activity Ratios (Use of assets)

(i) Aciktng KukAogopiakng Taxutnrag AmoBeudtwy (Inventory Turnover)

, p . p _ Koéotog NwAoewv _ ;
Aciktng KukAogoplakig Taxutnrag ATToBeaTwy Vioc Opoc Amofepinay — || POPES

Cost of Sales
Average Inventoryx

Inventory Turnover = =? times

*Average inventory= (Opening+closing)/2

(i) Méon MNepiodog Eiompagng (Average collection period)

Xpewoteg

Méon Trepiodog eioTrpagng = X 365 uépeg =? uépeg

Mwoeis ue miotwon

Trade receivables

Average collection period = X 365 days =?days

Credit sales
(iii) Méon MNepiodog NMAnpwung (Average payment period)

MoTWTEG

Méon Trepiodog TTANPWUNAG = X 365 uépeg =? uépeg

Ayopég ue miotwon

Average payment period = —2d¢ Pa¥ables o 366 34y =? Days

Credit purchases

4. Acikteg Xpéoug  MoxAeuong (Solvency Ratios)

(i) Agiktng MéxAguong (Gearing ratio)

, p Ke@dh 0epo? &M *
AﬁlKTﬂg MOX)\&UO’I’]Q - £@aAaLo otabepov eLGoSNLATOG % 100 = - %

ZUvodo ATAT Y00V UEV WY KEQAAQIWV**

Fixed Return Fundingx

Gearing ratio = 100 =%

Total Capital Employed*
* Fixed Return Funding: Preference shares + debentures + other non-current liabilities

**Total capital employed: OSC + PSC + Reserves + non-current liabilities (or total assets
less current liabilities)



